2020-2021 % BAEER J1 52 A BAIRZE IR (2 BE)

Author:PB19000246 PB19000261

2021 £ 3 A 5 H

B WEE =R A I, 5 =808 E F A
Problem 1
S AN S R Hamilton A £ i Hamilton EREUHN

P2
H = 21]2777’;1 + V(rl,rg, t)

G =Pt — Mr,
22\l FH Poisson Bracket #%H 368 VT 5 B 2 B4, A GHTFEE
Problem 2
i HURL 775 L G3% H  Hamilton R A

. 2
g P—dA)
2m

MAVERRHGIN T — 4B, R ECRK R RT IB TRIR AL, Iy = (r,t)

+q9  A=Art)  é=9¢(rt)

A=A+VY ¢ =¢-0u

e T 91 A

(1)ifid Legendre”Z #: 3K i Lagrange B #( L (r, r)
(2)iIEHH AR $

/

r'=r p'=p+Vy

RIENAR e, HoR AR, (v, p/, t), U BZIE AR oA A ANFAAE S — R R L (v, 17 t)
(3)=KFrHamilton BRI UK (v', p’), Ui B FL AN 5 K i Hamilton B8 £ 554

Problem 3
UL 5 B A m AR el B PSR IR B B b IO s i, O sl BB B4 [ o2, C O B34 0
OCH & Bl I I 1 60°. FLIEIFA T 4 24 3 BT O CFH % B JE B IR~ K
(1) B SEO mJie 1 H Q)
(2) [ e (1 5l



K| 1: Problem 3

(3) OKMEF T HH I3

Problem 4
FRTFAEA O IEH T IZ8h EIE TR N = roexp(af), 460 = OFF, RiTF138 B A,
K
(1) KLY R Sy A ae Rk 5
(2) KL FIs s RE R
(3) TG 73 a2 Ak Fr MR WA PRI RE 1 ) B T o

Problem 5
O Hamilton B iR A RN

1
H = —(p* + m*w?q?) cos(Qt)
2m

ﬁﬁHamilton—Jacobijﬁjéﬁ?ﬁ@p(wa q(t)> /EQEPP(O) =0,q(0) =0

Problem 6 )
(nmaﬂ%%@ﬁm@:U%yﬂ@ﬁ%%@ﬁ%ﬁﬁﬁ,
(I EE A 2 8] (o, 2) P E = Uy, E = Uy /3, E = de 2Up ARSI HARERT K

()R TAE R EL A T I E i — 4Rz s)
UE BRI AR T 221 DY A AH 25 (8] 1] £2(0,0),(x,0),(0,p), (x,p) FEZR I AL J5 T ARAN AR



